

ANTIDIABETIC AND HEPATOPROTECTIVE EFFECTS OF AQUEOUS AND ETHANOLIC LEAF EXTRACTS OF *Mitracarpus* *hirtus* ON ALLOXAN-INDUCED DIABETIC RATS

Gabriel Sunday¹, Ezeonu Chukuma Stephen², Imo Chinedu³,
Jonah Tsuvini⁴, Atah David Attah⁵

Federal University Wukari, Taraba State, Nigeria
gabrielsunday619@gmail.com

Article Info:

Submitted:	Revised:	Accepted:	Published:
Feb 10, 2024	Feb 20, 2024	Feb 25, 2024	Feb 29, 2024

Abstract

Diabetes mellitus (DM) is a metabolic disorder that remains a major health concern worldwide. It is associated with derangement of carbohydrate, protein, and lipid metabolism. This study evaluates the antidiabetic and hepatoprotective effects of aqueous and ethanolic leaf extracts of *Mitracarpus hirtus* on alloxan-induced diabetic rats. Fifty-five male Wistar rats were divided into 11 groups, with diabetes induced by alloxan. Treatment with aqueous and ethanolic extracts, along with Glibenclamide, lasted three weeks. At the end of the treatment period, the rats were sacrificed and blood samples were collected via cardiac puncture for biochemical analysis. Findings revealed a significant decrease ($p < 0.05$) in fasting blood sugar (FBS) in group 10 (99.8 ± 15.74 mg/dL) when compared with group 2 (274.2 ± 7.95 mg/dL) in week 1. Week 2 also revealed a significant decrease ($p < 0.05$) in group 11 (84.6 ± 14.98 mg/dL) when compared with group 2 (262.8 ± 15.94 mg/dL). Week 3, further revealed a significant decrease ($p < 0.05$) in group 9 (79.4 ± 25.13 mg/dL) and group 11 (83.6 ± 8.35 mg/dL) when compared with group 2 (289.6 ± 20.89 mg/dL). Aspartate Aminotransferase (AST) revealed a significant decrease ($p < 0.05$) when group 11 (54.38 ± 15.74 U/L) was compared with group 2

(146.66 ± 11.35 U/L). Similarly, Alanine Aminotransferase (ALT) significantly decreased ($p < 0.05$) when group 11 (53.46 ± 4.6 U/L) was compared with group 2 (101.42 ± 16.01 U/L), while total protein and albumin increased in all treated groups. Group 5 (0.64 ± 0.11 mg/dL) in Total bilirubin (TB) had the lowest mean when compared with group 2 (2.69 ± 0.52 mg/dL). All treatment groups significantly decreased ($p < 0.05$) Triglyceride (TG) and Cholesterol (CHOL). From this study, it has been shown that the aqueous and ethanolic leaves extracts of *Mitracarpus hirtus* may have the potential to ameliorate the complications due to diabetes in a dose dependent manner.

Keywords: Antidiabetic, Hepatoprotective, Alloxan, *Mitracarpus Hirtus*, Glibenclamide

INTRODUCTION

Diabetes mellitus is a prevalent metabolic disorder affecting glucose, lipid, and protein balance in the endocrine system (Effiong *et al.*, 2013). It stems from insufficient insulin secretion by pancreatic β -cells or reduced tissue cell sensitivity to insulin (Effiong *et al.*, 2013; Nirmala *et al.*, 2009). This lifelong condition requires constant monitoring and control, significantly impacting overall well-being (Okoronkwo *et al.*, 2015). The global rise in diabetes mellitus and its complications is a growing concern (IDF, 2019), contributing to premature deaths, including those of distinguished leaders and renowned scholars (Oputa and Chinenye 2015).

Complications of diabetes, such as foot infections, ulcers, and the subsequent need for lower extremity amputation, along with kidney, liver, and heart diseases, have been documented (Lipsky *et al.*, 2012). Despite the significant economic impact, diabetes management using conventional drugs like insulin, biguanides, and sulfonylureas raises concerns due to serious side effects such as hypoglycemic coma, hematological and gastrointestinal reactions, and disturbances in kidney, liver, and heart functions. The pursuit of more effective and safer therapeutic agents for diabetes mellitus and its complications remains a crucial area of research (Akomas *et al.*, 2014; Ayinla *et al.*, 2014).

Diabetes mellitus-induced damage to liver cells results in the release of liver function marker enzymes like alanine aminotransferase, aspartate aminotransferase, and alkaline phosphatase into the plasma (Mankhatithan *et al.*, 2011). Monitoring the activities of these enzymes in the plasma provides an indirect assessment of liver function. Elevated

concentrations beyond homeostatic limits indicate potential liver tissue disorder (Friday *et al.*, 2010).

Medicinal plants have been documented as having beneficial properties used for the management of various ailments (Ochalefu *et al.* 2023). *Mitracarpus hirtus* (L.) DC., also known as 'Harwatsi' in Hausa is a weed plant wildy grown everywhere in Nigeria. The juice obtained from the plant is quite common for the treatment of eczema (Malami *et al.*, 2023). *Mitracarpus hirtus* L. has been widely used to treat ringworm, rashes, toothache, itch, eczema, venereal diseases (B/kudu *et al.*, 2018), boils, measles (Idris *et al.*, 2015), skin diseases (Suleiman and Suleiman, 2015), and as an antidote for bites and stings (Pansuksan *et al.*, 2014). Therefore, this study was aimed at investigating the antidiabetic and hepatoprotective effects of aqueous and ethanolic leaf extracts of *Mitracarpus hirtus* on alloxan-induced diabetic rats.

METHODS

Sample Collection and Preparation

Fresh leaves of *Mitracarpus hirtus* were collected from its natural habitat in Sondi, Wukari L.G.A, Taraba State, Nigeria. Identification and authentication were done at the herbarium in the Department of Plant Sciences of Modibbo Adama University Yola, Nigeria. It was air dried at room temperature and was ground using electric blender.

Experimental Animals

Fifty-five (55) wistar rats were purchased, maintained at room temperature, fed with broilers starter and water *ad-libitum* and allowed to acclimatize for a week before commencement of the experiment.

Ethanolic Extraction of *Mitracarpus hirtus* leaves

The extraction process followed the method outlined by Yakubu *et al.* (2013) and Ezeonwu and Dahiru (2013). Initially, 400 grams of pulverized sample were soaked in absolute ethanol at a ratio of 1:4 w/v (400g: 1600 mL) for precisely 24 hours. After the soaking period, the extract was filtered using a clean white sieving mesh followed by Whatman No. 1 filter paper to remove any solid particles. Subsequently, the filtrate was concentrated

using a rotary evaporator at a temperature of 68°C. Once concentrated, the extract was transferred into air-tight containers, corked, and preserved in a refrigerator at 4°C until further use.

Aqueous Extraction of *Mitracarpus hirtus* leaves

The extraction process followed the method outlined by Yakubu *et al.* (2013) and Ezeonwu and Dahiru (2013). Initially, 400 grams of pulverized sample were soaked in absolute distilled water, totaling 1600 mL, for precisely 24 hours. After the soaking period, the extract was filtered using a clean white sieving mesh followed by Whatman No. 1 filter paper to remove any solid particles. Subsequently, the filtrate was concentrated using a rotary evaporator at a temperature of 68°C. Once concentrated, the extract was transferred into air-tight containers, corked, and preserved in a refrigerator at 4°C until further use.

Induction of Diabetes

Diabetes was induced in the experimental rats by administering a single intra-peritoneal injection of alloxan monohydrate at a dosage of 150 mg/kg, dissolved in distilled water as a vehicle, following the method described by Carvalho *et al.* (2003). Prior to the injection, the rats were fasted for 12 hours. Immediately after the injection, the animals were provided with a glucose solution to drink to mitigate the drug-induced hypoglycemia.

Forty-eight hours post-alloxan administration, blood samples were collected from the tail of the rats, and their glucose levels were measured using a One Touch Glucometer and test strips. Rats exhibiting a fasting blood glucose concentration greater than 196 mg/dl were considered to have developed diabetes and were selected for inclusion in the experiment, as per the criteria outlined by Carvalho *et al.* (2003) and Yakubu *et al.* (2020).

Experimental Design

Fifty-five (55) male Wistar rats were used and distributed randomly into eleven groups consisting of five animals each, as described below.

Group 1: Normal control (Non diabetic, no treatment).

Group 2: Negative control (Diabetic, no treatment).

Group 3: Diabetic treated with Glibenclamide 5 mg/kg (positive control).

Group 4: Diabetic treated with 200 mg/kg of aqueous leaves extract of *Mitracarpus hirtus*.

Group 5: Diabetic treated with 400 mg/kg of aqueous leaves extract of *Mitracarpus hirtus*.

Group 6: Diabetic treated with 200 mg/kg of ethanolic leaves extract of *Mitracarpus hirtus*.

Group 7: Diabetic treated with 400 mg/kg of ethanolic leaves extract of *Mitracarpus hirtus*.

Group 8: Administered 200 mg/kg of aqueous leaves extract of *Mitracarpus hirtus* before administration of alloxan.

Group 9: Administered 400 mg/kg of aqueous leaves extract of *Mitracarpus hirtus* before administration of alloxan

Group 10: Administered 200 mg/kg of ethanolic leaves extract of *Mitracarpus hirtus* before administration of alloxan

Group 11: Administered 400 mg/kg of ethanolic leaves extract of *Mitracarpus hirtus* before administration of alloxan.

Treatments were given to the rats orally for 21 days. The fasting blood glucose determinations were determined weekly using glucometer.

Fasting Blood Glucose Determination

This was carried out as described by Yakubu *et al.* (2013) and Uhuo *et al.*, (2022). A drop of blood was collected through the tail of the over-night fasted rats to test for glucose on an assay strip and read using Accu-Check glucometer. This was carried out on a weekly basis for 21 days.

Animal Sacrifice and Collection of Samples

This was carried out as described by Imo *et al.* (2013). The animals were anaesthetized with chloroform; incisions were made into their thoracic cavity and blood samples were collected by cardiac puncture using a 10ml syringe and dispensed into dry tubes and allowed to clot for fifteen minutes after which it was centrifuged for 10 minutes at 4000 rpm. Serum was separated from the clot using Pasteur pipette for the serum biochemical analysis.

The serum activities of selected liver marker enzymes (ALT and AST) and serum levels of Total protein (TP), Total Bilirubin (TB), Direct Bilirubin (DB), albumin (ALB),

Triglycerides and Cholesterol were assayed using an autoanalyzer (Cobas C111 Chemistry Analyzer).

Statistical Analysis

Statistical analysis was performed using the Statistical Package for Social Sciences (SPSS), version 23. One-way analysis of variance (ANOVA) was conducted to assess the differences between groups. Subsequently, Duncan multiple comparisons were applied to further analyze the data. The significance level was set at $p < 0.05$. The results are presented as mean $\pm$ standard deviation, with a sample size of $n = 5$ for each group.

RESULTS

The administration of alloxan resulted in a significant increase ($p < 0.05$) in blood glucose levels in experimental rats compared to control rats. However, treatment with both aqueous and ethanolic leaf extracts of *Mitracarpus hirtus* significantly decreased blood glucose levels ($p < 0.05$) in alloxan-induced diabetic fasted rats. The hypoglycemic activity observed was comparable to that of Glibenclamide (5mg/kg body weight/day) treated positive control rats.

Table 1 Fasting blood sugar concentration in alloxan-induced diabetes rats treated with aqueous and ethanolic leaf extracts of *Mitracarpus hirtus* in week 1 revealed a significant decrease in group 10 (99.8 ± 15.74 mg/dL) when compared with group 2 (274.2 ± 7.95 mg/dL). In Week 2, group 11 (84.6 ± 14.98 mg/dL) significantly decreased when compared with group 2 (262.8 ± 15.94 mg/dL). Week 3, revealed a significant decrease in group 9 (79.4 ± 25.13 mg/dL) and group 11 (83.6 ± 8.35 mg/dL) when compared with group 2 (289.6 ± 20.89 mg/dL).

Table 1: Fasting Blood Sugar (FBS) levels in normal and diabetic rats treated with aqueous and ethanolic leaf extracts of *Mitracarpus hirtus* and Glibenclamide (mg/dL)

GRP S	Treatment	DAY 1 mg/dL	WK1 mg/Dl	WK2 mg/dL	WK3 mg/dL
1	Normal Control	88.60 ± 09.18 ^a	83.20 ± 9.01 ^a	93.20±10.52 ^{a,b}	89.40 ±8.62 ^{ab}
2	Negative Control	291.20 ±10.28 ^{de}	274.20±7.95 ^e	262.8±15.94 ^e	289.6±20.89 ^e
3	Diabetic+ Glibenclamide	264.40±12.18 ^{cde}	162.2±126.3 ^{bcd}	126.80±13.03 ^{cd}	110.2±8.41 ^{bc}
4	Rats treated with 200mg/kg Aq (Mh)(Post alloxan induced Diabetes)	283.20±58.26 ^{de}	167.80±25.47 ^{cd}	138.40±22.86 ^d	117.40±25.36 ^d
5	Rats treated with 400mg/kg Aq (Mh)(Post alloxan induced Diabetes)	298.20±24.98 ^e	146.20±66.27 ^{abcd}	94.40±18.80 ^{ab}	100.40±5.50 ^{abc}
6	Rats treated with 200mg/kg Et (Mh)(Post alloxan induced Diabetes)	259.40±54.39 ^{cde}	171.20±8.26 ^{cd}	128.6±40.56 ^d	100.20±7.60 ^{abc}
7	Rats treated with 400mg/kg Et (Mh)(Post alloxan induced Diabetes)	241.20±44.38 ^{cd}	130.80±15.77 ^{abcd}	115.40±9.50 ^{bcc}	95.60±17.54 ^{abc}
8	Rats administered with 200mg/kg Aq (Mh) (Pre alloxan induced Diabetes)	273.60±22.12 ^{cde}	178.40±26.75 ^d	122.20±15.37 ^{cd}	99.60±16.98 ^{abc}
9	Rats administered with 400mg/kg Aq (Mh) (Pre alloxan induced Diabetes)	189.80±61.82 ^b	105.80±33.36 ^{abc}	100.60±14.15 ^{abc}	79.40±25.13 ^a
10	Rats administered with 200mg/kg Et (Mh) (Pre alloxan induced Diabetes)	223.60±21.89 ^{bc}	99.80±15.74 ^{ab}	90.40±14.36 ^{ab}	87.40±13.28 ^{ab}
11	Rats administered with 400mg/kg Et (Pre alloxan induced Diabetes)	190.20±13.30 ^b	110.60±18.32 ^{abcd}	84.60±14.98 ^a	83.60±8.35 ^a

Values are expressed as mean ± Standard deviation; N=5. Values with different superscript down the column are considered statistically significant at $p \leq 0.05$.

The table 2. below shows results of liver function tests – Alanine Aminotransferase (ALT), Aspartate Aminotransferase (AST) and Total Protein (TP), Albumin (ALB).

The result of AST revealed a significant decrease when group 11 (54.38 ± 15.74 U/I) was compared with group 2 (146.66 ± 11.35 U/I). Similarly, ALT significantly decreased when group 11 (53.46 ± 4.6 U/I) was compared with group 2 (101.42 ± 16.01 U/I). TP revealed a significant increase when group 11 (7.45 ± 0.5 gm/dL) was compared with group 2 (4.23 ± 0.47 gm/dL). Albumin also significantly increased in group 11 (5.02 ± 0.75 gm/dL) when compared with group 2 (0.24 ± 0.08 gm/dL).

Table 2: Concentration of selected liver function parameters of rats treated with aqueous and ethanolic leaf extracts of *Mitracarpus hirtus* and Glibenclamide

GRPS	TREATMENTS	AST (U/L)	ALT (U/L)	TP (gm/dL)	ALB (gm/dL)
1	Normal Control	42.18 ± 2.7^a	47.59 ± 7.14^a	6.39 ± 0.94^{cd}	3.89 ± 0.2^{bc}
2	Negative Control	146.66 ± 11.35^h	101.42 ± 16.01^e	4.23 ± 0.47^a	1.24 ± 0.08^a
3	Diabetic+				
	Glibenclamide	68.14 ± 7.96^{cd}	51.28 ± 4.28^{ab}	5.03 ± 0.90^{ab}	3.98 ± 0.40^{bc}
4	Rats treated with				
	200mg/kg Aq				
	(Mh)(Post alloxan				
	induced Diabetes)	105.46 ± 6.66^g	78.21 ± 8.81^d	4.29 ± 0.88^a	3.14 ± 2.51^b
5	Rats treated with				
	400mg/kg Aq				
	(Mh)(Post alloxan				
	induced Diabetes)	56.35 ± 6.32^{bc}	74.54 ± 4.56^{cd}	6.33 ± 0.75^{cd}	3.03 ± 0.26^b
6	Rats treated with				
	200mg/kg Et				
	(Mh)(Post alloxan				
	induced Diabetes)	84.59 ± 3.56^{ef}	91.26 ± 9.77^e	5.65 ± 0.65^{bc}	4.19 ± 0.14^b
7	Rats treated with				
	400mg/kg Et				
	(Mh)(Post alloxan				
	induced Diabetes)	92.15 ± 15.35^f	72.22 ± 6.85^{cd}	$6.52 \pm 0.93^{c,de}$	3.09 ± 0.77^{bc}
8	Rats administered				
	with 200mg/kg				
	Aq (Mh) (Pre				
	alloxan induced				
	Diabetes)	78.41 ± 8.43^{de}	71.51 ± 11.39^{cd}	6.61 ± 0.06^{cde}	3.28 ± 0.20^b
9	Rats administered				
	with 400mg/kg				
	Aq (Mh) (Pre				
	alloxan induced				
	Diabetes)	73.62 ± 7.09^{de}	67.88 ± 7.28^{cd}	6.97 ± 0.42^{de}	3.11 ± 0.13^b

10	Rats administered with 200mg/kg Et (Mh) (Pre alloxan induced Diabetes)	82.15±7.96 ^{ef}	63.46±12.48 ^{bc}	5.77±0.42 ^{bc}	3.09±0.70 ^b
11	Rats administered with 400mg/kg Et (Pre alloxan induced Diabetes)	54.38±15.74 ^a	53.46±4.60 ^{ab}	7.45±0.50 ^c	5.02±0.75 ^c

Values are expressed as Mean ± Standard deviation; N=5. Values with different superscript down the column are considered statistically different at $p \leq 0.05$.

The table 3 shows the result of Total bilirubin, Direct Bilirubin (DB), and Indirect Bilirubin (I.D BIL) with a significant ($p > 0.05$) increase TB in the diabetic control compared to the normal control. All treatment groups revealed a significant decrease in all parameters. However, group 5 (0.64 ± 0.11 mg/dL) in TB had the lowest mean when compared with group 2 (2.69 ± 0.52 mg/dL). Similarly, DB revealed a significant decrease in group 5 (0.11 ± 0.09 mg/dL) when compared with group 2 (0.81 ± 0.09 mg/dL). IDB revealed a significant decrease in group 9 (0.31 ± 0.14 mg/dL) and 11 (0.34 ± 0.19 mg/dL) when compared with group 2 (0.99 ± 0.91 mg/dL).

Table 3: Serum bilirubin concentration of rats treated with aqueous and ethanolic leaf extracts of *Mitracarpus hirtus* and Glibenclamide

GRPS	TREATMENT	TB (mg/dL)	DB (mg/dL)	IDB (mg/dL)
1	Normal Control	0.54±0.06 ^a	0.11±0.07 ^a	0.37±0.16 ^a
2	Negative Control	2.69±0.52 ^{ab}	0.81±0.09 ^c	0.99±0.91 ^b
3	Diabetic+ Glibenclamide	0.59±0.04 ^g	0.3±0.33 ^{ab}	0.44±0.08 ^{a,b}
4	Rats treated with 200mg/kg Aq (Mh)(Post alloxan induced Diabetes)	0.71±0.04 ^{ab}	0.26±0.18 ^{ab}	0.80±0.12 ^{ab}
5	Rats treated with 400mg/kg Aq (Mh)(Post alloxan induced Diabetes)	0.64±0.11 ^{abc}	0.11±0.09 ^a	0.64±0.66 ^{a,b}
6	Rats treated with 200mg/kg Et (Mh)(Post alloxan induced Diabetes)	1±0.44 ^{de}	0.34±0.31 ^{ab}	0.55±0.23 ^{ab}
7	Rats treated with 400mg/kg Et (Mh)(Post alloxan induced Diabetes)	0.89±0.12 ^{bcde}	0.62±0.19 ^{bc}	0.53±0.26 ^{ab}
8	Rats administered with 200mg/kg Aq (Mh) (Pre	1.14±0.24 ^{ef}	0.64±0.10 ^{bc}	0.81±0.19 ^{ab}

9	alloxan induced Diabetes) Rats administered with 400mg/kg Aq (Mh) (Pre alloxan induced Diabetes)	0.94±0.09 ^{def}	0.59±0.03 ^{bc}	0.31±0.14 ^a
10	Rats administered with 200mg/kg Et (Mh) (Pre alloxan induced Diabetes)	1.38±0.27 ^f	0.86±0.79 ^c	0.76±0.59 ^{a,b}
11	Rats administered with 400mg/kg Et (Pre alloxan induced Diabetes)	1.04±0.05 ^{de}	0.50±0.33 ^{abc}	0.34±0.19 ^a

Values are expressed as mean ± Standard deviation; N=5. Values with different superscript down the column are considered statistically significant at $p \leq 0.05$.

All treatment groups significantly decreased in triglycerides (TG) when compared with group 2 (2.60 ± 2.13 mmol/L). Cholesterol (CHOL) significantly decreased in all treatment groups when compared with group 2 (3.82 ± 0.82 mmol/L). However, group 7 (1.49 ± 0.70 mmol/L) revealed a significant increase when compared with other treatment groups

Table 4: serum Triglycerides (TG) and Cholesterol (CHOL) levels in normal and diabetic rats treated with aqueous and ethanolic leaf extracts of *Mitracarpus hirtus* Glibenclamide.

GRPS	TREATMENT	TG(mmol/L)	CHOL(mmol/L)
1	Normal Control	0.47±0.37 ^a	0.43±0.48 ^a
2	Negative Control	2.60±2.13 ^b	3.82±0.82 ^c
3	Diabetic+ Glibenclamide	0.47±0.27 ^a	0.32±0.80 ^a
4	Rats treated with 200mg/kg Aq (Mh)(Post alloxan induced Diabetes)	0.71±0.33 ^a	0.93±0.33 ^a
5	Rats treated with 400mg/kg Aq (Mh)(Post alloxan induced Diabetes)	0.54±0.53 ^a	0.76±0.58 ^a
6	Rats treated with 200mg/kg Et (Mh)(Post alloxan induced Diabetes)	0.65±0.39 ^a	0.77±1.16 ^a
7	Rats treated with 400mg/kg Et (Mh)(Post alloxan induced Diabetes)	0.51±0.24 ^a	1.49±0.70 ^b
8	Rats administered with 200mg/kg Aq (Mh) (Pre alloxan induced Diabetes)	0.44±0.16 ^a	0.90±0.44 ^a
9	Rats administered with 400mg/kg Aq (Mh) (Pre alloxan induced Diabetes)	0.17±0.12 ^a	0.69±0.11 ^a

10	Rats administered with 200mg/kg Et (Mh) (Pre alloxan induced Diabetes)	0.71 ± 0.22^a	0.39 ± 0.30^a
11	Rats administered with 400mg/kg Et (Pre alloxan induced Diabetes)	0.29 ± 0.12^a	0.28 ± 0.25^a

Values are expressed as mean $\pm$ Standard deviation; N=5. Values with different superscript down the column are considered statistically significant $p \leq 0.05$.

DISCUSSION

The present study focused on evaluating the antidiabetic and hepatoprotective effects of aqueous and ethanolic leaf extracts of *Mitracarpus birtus* in alloxan-induced diabetic rats. The overall effects of aqueous and ethanolic extract of *Mitracarpus birtus* were carried out on the antidiabetic and hepatoprotective activity. Research indicates that inducing diabetes chemically through the intraperitoneal administration of alloxan monohydrate leads to Type I diabetes in laboratory animals (Viana *et al.*, 2004; Etuk, 2010). Alloxan monohydrate, derived from urea, causes diabetes by selectively damaging the pancreatic beta cells of Langerhans (Iranloye *et al.*, 2011). This impairment affects the synthesis and release of endogenous insulin, resulting in insufficient availability and leading to hyperglycemia (Nastaran *et al.*, 2011). Alloxan's toxic effects on pancreatic beta cells involve inhibiting the glucokinase enzyme, generating free radicals, disrupting intracellular calcium balance, and oxidizing essential sulphydryl (-SH) groups (Dunn *et al.*, 1983; Szkudelski, 2001; Dhanesha *et al.*, 2012).

The preliminary phytochemical screening of *Mitracarpus birtus* by Binoodha *et al.* (2022) revealed the presence of alkaloids, flavonoids, steroids, tannins, phenolics, glycosides, carbohydrates, proteins and amino acids, which explains that the plant have valuable medicinal properties.

Elevated levels of glucose in the environment can contribute to apoptosis (Allen *et al.*, 2003), potentially damaging cells due to hyperglycemia in diabetes. Reactive oxygen species (ROS) play a crucial role in inducing β -cell death during the progression of diabetes mellitus (DM). It's been suggested that high glucose levels can lead to the generation of ROS and nitrogen species in various cell types. The production of superoxide due to high glucose is well-documented and primarily occurs through the mitochondrial electron

transport chain (Swagat *et al.*, 2016). Another source of glucose-induced oxidative stress is the polyol pathway, where glucose is converted to sorbitol by aldose reductase, a process that consumes NADPH. This impedes the NADPH-dependent synthesis of glutathione, a vital cellular antioxidant (Weiss and Sumpio, 2006). In this study significant hyperglycemia was achieved after alloxan injection. However, the aqueous and ethanolic leaf extracts of *Mitracarpus hirtus* administration in day 1 revealed a significant decrease fasting blood sugar (FBS) in group 11 (Rats administered with 400 mg/kg Et (Mh) (pre-alloxan-induced diabetes) (190.2 ± 13.31 mg/dl). In week 1, group 10 (Rats administered with 200 mg/kg Et (Mh) (pre-alloxan-induced diabetes) (99.8 ± 15.74 mg/dL) significantly decreased FBS when compared with group 2 (274.2 ± 7.95 mg/dl). Week 2 also revealed a significant decrease of FBS in group 11 (84.6 ± 14.98 mg/dl) when compared with group 2 (262.8 ± 15.94 mg/dL). Week 3, revealed a significant decrease in group 9 (Rats administered with 400mg/kg Aq (Mh) Mh) (pre-alloxan-induced diabetes) (79.4 ± 25.13 mg/dL) and group 11 (83.6 ± 8.35 mg/dL) when compared with group 2 (289.6 ± 20.89 mg/dL) in a dose dependent manner. These findings align with those of previous studies (Chaturvedi *et al.*, 2004; Abubakar *et al.*, 2016). This could be due to the presence of phenolic compounds, which are known to interact with proteins and hinder enzymatic activity (Suryanarayana *et al.*, 2004). Phenols derived from plant extracts used in food, which inhibit α -amylase activity, are considered potentially safe and may be a preferable option for regulating carbohydrate digestion and managing the glycemic index of food products. Additionally, alkaloids found in *Mitracarpus hirtus* leaves have been reported to inhibit α -glucosidase activity. This suggests that both aqueous and ethanolic leaf extracts of the plants may have insulin-like effects on peripheral tissues, either by enhancing glucose uptake or metabolism, inhibiting hepatic gluconeogenesis (Ali *et al.*, 1993), or limiting glucose absorption into muscles and adipose tissues (Kamanyi *et al.*, 1994). This could stimulate a regeneration process and revitalize remaining beta cells (Shanmugasundaram *et al.*, 1990).

Enzyme activities in tissues are frequently utilized as indicators to detect early toxic effects of introduced foreign substances in experimental animals (Akanji and Ngaha, 1989; Adesokan and Akanji, 2004). This is because any changes in the biochemical processes in these animals resulting from the presence of a foreign compound would manifest as either increased or decreased activity of such enzymes (Kandem *et al.*, 1982; Zilva and Pannal, 1984). Aspartate Aminotransferase (AST) and Alanine Aminotransferase (ALT) serve as marker enzymes, indicating liver injury or impairment in liver functions, and are crucial in

metabolism (Reitman and Frankel, 1957). AST and ALT are both cytosolic enzymes. AST facilitates the transfer of an amino group from aspartate to α -ketoglutarate, yielding oxaloacetate and glutamate. ALT, on the other hand, is involved in gluconeogenesis and amino acid metabolism, catalyzing the transfer of an amino group from alanine to α -ketoglutarate, resulting in glutamate and pyruvate. In damaged livers with hepatocellular lesions, these marker enzymes are released from damaged tissues, leading to increased levels in the bloodstream (Nkosi *et al.*, 2005).

ALT and AST serve as prominent diagnostic indicators of liver damage. The ratio of these two enzymes in the serum is employed to distinguish liver damage from damage to other organs (Nathwani *et al.*, 2005). ALT activity, in particular, is the most commonly used biomarker for hepatotoxicity. Hepatotoxicity causes an increase in the normal values of these enzymes because the body may struggle to excrete them through bile due to congestion or obstruction of the biliary tract within the liver. Elevated serum activity of these enzymes is typically observed during liver damage. In this study, diabetes induced damages to the liver. Table 2 revealed the significant ($p < 0.05$) increase in the level of AST and ALT and significant ($p < 0.05$) decrease in the level of Total protein (TP) in diabetics control (group 2) when compared with the normal control (group 1). Also there was a significant ($p < 0.05$) decrease in Albumin (ALB) in diabetics control (group 2) when compared with the normal control (group 1). The significant elevation in the marker enzymes in diabetic control (group 2) in this current study as shown in the table 2 above is a confirmation of previous research work on alloxan-induced diabetes mellitus (Atmaca *et al.*, 2019). The increase in the activities of serum AST and ALT and decrease in total protein and albumin indicated that diabetes may result due to liver dysfunction and acute hepatocytes affection (Alshawsh *et al.*, 2011). Thereafter, increase in the enzyme activities may be mainly due to leakage of these enzymes from the liver cells into the blood stream which gives an indication on the hepatotoxic effect of alloxan induction. However, the extracts administration caused a significant decrease in AST and ALT in all treatments groups; however the best result was obtained when group 11 (54.38 ± 15.74 U/L) was compared with group 2 (146.66 ± 11.35 U/L). Similarly, ALT also significantly decreased when group 11 (53.46 ± 4.6 U/L) was compared with group 2 (101.42 ± 16.01 U/L). This report agreed with Ugwu *et al.* (2013); Yakubu *et al.*, (2020) and Abu *et al.*, (2022). The decrease in AST and ALT in the treatments groups may be attributed to the presence of flavonoids which possess a wide range of biological benefits, including organ protection,

hypoglycemic, lipid-lowering, anti-oxidative, and anti-inflammatory properties (López-Lázaro, 2002). Therefore, it is possible to suggest that these extracts are safe and might confer protection against diabetes-induced hepatocellular damage as evidenced by reduction in the serum levels of AST and ALT in the treatments groups (Yakubu *et al.*, 2020).

There was a notable ($p < 0.05$) reduction in the average total protein (TP) in the diabetic control group (group 2) compared to the normal control group (group 1). This decrease in protein levels could be attributed to microproteinuria, a crucial clinical indicator of diabetic nephropathy (Tuvemo *et al.*, 1997; Makare *et al.*, 2001), and possibly increased protein breakdown (Almdal and Vilstrup, 1988). Additionally, insulin deficiency can lead to decreased RNA and mRNA levels, contributing to the decline in total protein (Fu *et al.*, 2013). This study's findings align with previous research, particularly that of Kemasari *et al.* (2011). However, treatment with both aqueous and ethanolic leaf extracts of *Mitracarpus hirtus* resulted in a significant ($p < 0.05$) increase in TP across all tested groups. Notably, group 10 (7.45 ± 0.5 gm/dL) in the treatment groups exhibited a remarkable increase compared to group 2 (4.23 ± 0.47 gm/dL). These findings are consistent with the work of Reda (2006) and Najafi (2011), who demonstrated that *date seed* extract has the potential to restore normal function and protect the liver in rats against alloxan-induced toxicity.

Albumin also significantly decreased in diabetic control (group 2) when compared with the normal control (group 1). This could be as a result of damaged caused by alloxan in the liver as a result of oxidative stress (Watkins and Seef, 2006). Administration of aqueous and ethanolic leaf extracts of *Mitracarpus hirtus*, caused a significant increase in albumin when group 9 (5.02 ± 0.75 gm/dL) was compared with group 2 (1.24 ± 0.08 gm/dL), and consequently may improve liver damage caused by alloxan-induced diabetes (EL-Demerdash *et al.*, 2005). This agreed with the findings of (Ugwu *et al.*, 2013). This increased in albumin may be attributed to the presence of free radical scavenging antioxidants in the extracts (Li *et al.*, 2015). The results also obtained correlate with the above findings.

Table 3 revealed the concentrations of total bilirubin (TB), direct bilirubin (DB) and indirect bilirubin (IDB). All treatment groups revealed a significant decrease in all parameters when compared with diabetic control. However, group 5 (0.64 ± 0.11 mg/dL) in TB had the lowest mean when compared with group 2 (2.69 ± 0.52 mg/dL). Similarly, DB revealed a significant decrease in group 5 (0.11 ± 0.09 mg/dL) when compared with

group 2 (0.81 ± 0.09 mg/dL). IDB revealed a significant decrease in group 9 (0.31 ± 0.14 mg/dL) and 11 (0.34 ± 0.19 mg/dL) when compared with group 2 (0.99 ± 0.91 mg/dL). This result agrees with various research involving alloxan as toxicity inducing agent by Shah and Kahn, (2014); Yakubu *et al.* (2020) and many other researchers reported the high levels of these marker enzymes in rats treated with alloxan. The total bilirubin level serves as a crucial indicator of liver function as it undergoes conjugation in the liver for potential excretion via the kidneys or bile. Elevated bilirubin levels were observed in diabetic rats, indicating compromised liver function, which aligns with findings from Shah and Kahn (2014). This increase in plasma bilirubin may result from reduced liver uptake, conjugation, or increased bilirubin formation following liver damage as noted by Rana *et al.* (1996). Treatment with *Mitracarpus birtus* extracts for 21 days significantly reduced bilirubin levels in diabetic rats, indicating improved liver function, consistent with Shah and Khan's (2014) findings using *Sida cordata* extract in alloxan-induced diabetic rats for 15 days. Similarly, Sunmonu and Afolayan (2013) reported a notable decrease in bilirubin levels in STZ-induced diabetic rats treated with *Artemisia afra* aqueous extract for 15 days.

Hypertriglyceridemia stands as the prevalent lipid anomaly in diabetic populations (Al-Shamaony *et al.*, 1994). According to the findings presented in table 4, alloxanization induces a notable elevation in serum triglyceride (TG) and cholesterol (CHOL) levels among diabetic subjects in comparison to their non-diabetic counterparts (Al-Shamaony *et al.*, 1994; Bako *et al.*, 2014). This increase is likely attributable to the disruption in the regulation of lipase activity by insulin owing to its deficiency stemming from the alloxan-triggered destruction of beta islet cells (Al-Shamaony *et al.*, 1994). Lipase, responsible for converting triglycerides into free fatty acids and glycerol, is normally inhibited by insulin in adipose tissue (Al-Shamaony *et al.*, 1994). In the absence of insulin, plasma free fatty acid levels surge. Subsequently, in the liver, free fatty acids undergo catabolism into acetyl CoA, with surplus acetyl CoA being transformed into cholesterol, triglycerides, and ketone bodies, thereby inducing ketosis (Al-Shamaony *et al.*, 1994). Alloxan-induced diabetes fosters an excess of plasma fatty acids, prompting their conversion into triglycerides and cholesterol in the liver, which are then released into the bloodstream as lipoproteins (Bopanna *et al.*, 1997). In table 4, all treatment groups significantly decreased in TG when compared with group 2 (2.60 ± 2.13 mmol/L), CHOL also significantly decreased in all treatment groups when compared with group 2 (3.82 ± 0.82 mmol/L), this may be attributed to the presence of phytochemicals such as alkaloids which have been reported to

exhibit lipid lowering potential activity in rats (Bako *et al.*, 2014). Glycocides also present in the leaves of *Mitracarpus birtus* have been proven to decrease Hb1Ac level, oral glucose tolerance test, triglyceride level and fatty acid synthase activity (Bako *et al.*, 2014). According to Claudia *et al.* (2006) and Bopanna *et al.* (1997), various plant extracts possess therapeutic potential in mitigating atherosclerosis, a significant complication of diabetes, by reducing serum lipid levels, particularly total cholesterol, triglycerides, and low-density lipoprotein levels (Luka and Tijjani, 2013).

CONCLUSION

The results from this study indicated that the aqueous and ethanolic leaf extracts of *Mitracarpus birtus* possess hypoglycemic, hypolipidemia, and hepatoprotective effects in alloxan induced diabetic rats in a dose-dependent manner, this it does by reversing alterations and stabilizing the biochemical parameters which are indicators of organ failure and malfunctions in diabetes, thus scientifically validating the possible use of both extracts of the plants in folkloric medicine in the management of diabetes mellitus and hepatic diseases. The results therefore suggest that the extracts (especially group 9 and 11) which were pre-administered and at higher doses (400 mg/kg) showed great antidiabetic properties, thus potential sources of natural products that may be of great importance for the treatment of diabetes and diabetes related diseases.

REFERENCES

- Abu, M.S. Yakubu, O.E. Job, I.O. and Silas, V.T. (2022). Antioxidant potency of n-butanol fraction of *Ficus glumosa* leaves against oxidative stress induced by carbon tetrachloride in the kidneys of rats. *Journal of Applied Pharmaceutical Science*. 14(1),40-46.
- Abubakar, M.K., Wasagu, R.S.U., Usman, J.N. and Galadima, L.G. (2016). Effect of Methanol and Aqueous Leaf Extract of *Mitracarpus Scabrum* in Alloxan Induced Diabetic Rats. *Journal of Pharmacognosy and Phytochemical*. 5 (1),4–7.
- Adesokan, A.A. and Akanji, M.A. (2004). Effect of administration of aqueous extract of *Enantiachlorantha* on the activities of some enzymes in the small intestine of rats. *Nigerian society of biochemistry and molecular biology*. 18,103-105.
- Ahlqvist, E., Storm, P., Karajamaki, A. and Martinell, M. (2018). Novel subgroups of adult onset diabetes and their association with outcomes: a data driven cluster analysis of six variables. *The Lancet Diabetes and Endocrinology* 6(5): 361-369.

- Akanji, M.A. and Ngaha, E.O. (1989) Effect of repeated administration of Berenil on urinary enzyme excretion with corresponding tissue pattern in rats. *Pharmacology and toxicology*. 64:272-279.
- Akomas, S.C., Okafor, A.I. and Nnah, I.S. (2014). Glucose level, haematological parameters and lipid profile in *Ficus sur* treated diabetic rats. *Comprehensive Journal of Agriculture and Biological Sciences*. 2(1):5-11.
- Al Shamaony, L., Al Khazraji, M. S. and Twaij, H. A. (1994). Hypoglycemic effects of *Artemisia herba-alba*. II. Effect of a valuable extract on some blood parameters in diabetic animals. *Journal of Ethnopharmacology*, 43(3), 167-171.
- Ali, L., Azad Khan, A.K., Mamun, M.I.R., Mosihuzzaman, M., Nahar, N., Nur-E-Alan, M. and Rokeya, B. (1993). Studies on the hypoglycaemic effects of fruits pulp, seed and whole plant of *Momordica charantia* on normal and diabetic model rats. *Planta Medica*. 59, 408–412.
- Allen, H.B., Shaver, C.M., Etzler, C.A. and Joshi, S.G. (2015). Autoimmune Diseases of the Innate and Adaptive Immune System including Atopic Dermatitis, Psoriasis, Chronic Arthritis, Lyme Disease and Alzheimer's Disease. *Immunochimistry and Immunopathology*. 3,110-112.
- Almdal, J.P. and Vilstrup, H. (1988). Strict insulin therapy normalizes organ nitrogen contents and the capacity of urea nitrogen synthesis in experimental diabetes in rats. *Diabetologia*. 31, 114-118.
- Alshawsh, M.A., Abdulla, M.A., Ismail, S. and Amin, Z.A. (2011). Hepatoprotective effects of *Orthosiphon stamineus* extract on thioacetamide-induced liver cirrhosis in rats. *Evidence-based complementary and alternative medicine*. 1–6.
- Atmaca, M. Ucler, R. Kartal, M. Seven, I. Alay, M. Bayram I. and Olmez, S. (2019). Glycogenic hepatopathy in type 1 diabetes mellitus. *Case Reports in Hepatology*. 2015, 10-11.
- Ayinla, M.T., Owoyele, B.V. and Yakubu, M.T. (2014). Antidiabetic activity of aqueous extract of *Senna fistula* leaves in streptozotocin- induced diabetic rats. *Nigerian Journal of Biochemistry and Molecular Biology*. 29 (2),93-106
- B/kudu, A.A., Odda, J., Aliero, A.A. and Oloro, J. (2018). Evaluation of Antifungal Activity of Ethanolic Crude extract of *M. Hirtus* Plant against Dermatophytes. *Galore International Journal of Health Science and Research*. 3 (1), 18–23.
- Bako, H.Y. Mohammad, I.S., Waziri, W.P., Bulus, T., Gwarzo, M.Y. and Maimuna, M. Z. (2014). Lipid profile of alloxan-induced diabetic wistar rats treated with methanolic extract of *adansonia digitata* fruit pulp. *Science World Journal*. 9 (2), 1597-6343.
- Binoodha, R.C., Vimal P.S. and Karthika, K. (2022). Screening of phytochemical constituents and quantitative estimation of total flavonoids and phenolic compounds of leaf extracts of *Mitracarpus birtus* (rubiceae). *Kongunadu Research Journal*. 9 (1),47-52.
- Bopanna, K. N., Kannan, J., Sushma, G., Balaraman, R. and Rathod, S. P. (1997). Antidiabetic and antihyperlipidaemic effects of neem seed kernel powder on alloxan diabetic rabbits. *Indian Journal of Pharmacology*. 29, 162-167.
- Carvalho, E.N., Carvalho N.A.S. and Ferreira L.M. (2003). Experimental model of induction of diabetes mellitus in rats. *Acta Cirurgica Brasileira*. 18, 60-64.

- Chaturvedi, N. (2007). The burden of diabetes and its complications: Trends and implications for intervention. *Diabetes Research and Clinical Practices*. 76,S3-S12.
- Claudia, E. N. M., Julius, E. O., Dagobert, T. and Etienne, D. (2006). Antidiabetic and Hypolipidemic effects of *Laportea ovalifolia* (URTICACEAE) in alloxan induced diabeticrats. *African. Journal of Traditional Complement; Alternative Medicine*, 3(1), 36-43.
- Dhanesha, N., Joharapurkar, A., Shah, G., Dhote, V., Kshirsagar, S., Bahekar, R. and Jain, M. (2012). Exendin-4 ameliorates diabetic symptoms through activation of glucokinase. *Journal of Diabetes* .4, 369–377.
- Dunn, J.S., Sheehan, H.L. and Mclethie N.G.B. (1983). Necrosis of islets of Langerhans produced experimentally. *Lancet*. 1,484-487.
- Effiong, E.E., Igile, G.O., Mgbeje, B.I.A., Out, E.A, and Ebong, P.E. (2013). Hepatoprotective and antidiabetic effects of combined extracts of *Moringa oleifera* and *Vernonia amygdalina* in streptozotocin-induced diabetic Wistar albino rats. *Journal of Diabetes and Endocrinology* 4(4): 45-50.
- Effiong, G.S. and Akpan, H.D. (2015). The effect of *Nauclea latifolia* leaf extract on some biochemical parameters in streptozotocin-induced diabetic rats models. *Journal of Medicine and Medicinal Sciences*. 6(3): 47-52
- EL-Demerdash, F.M., Yousef, M.I. and EL-Naga, N.I. (2005). Biochemical study on the hypoglycemic effects of onion and garlic in alloxan-induced diabetic rats. *Food and chemical toxicology*. 43, 57–63.
- Etuk, E.U. (2010). Animals models for studying diabetes mellitus. *Agricultural and Biololgical Journal of Northerm America*. 1, 130-134.
- Ezeonwu, V. U. and Dahiru D. (2013). Protective effect of bi-herbal formulation of *Ocimum gratissimum* and *Gongronema latifolium* aqueous leaf extracts on acetaminophen-induced hepato-nephrotoxicity in rats. *American Journal of Biochemistry*. 3(1), 18-23.
- Friday, E.U., Iniobong, E.O. and Moses, B.E. (2010). Effect of aqueous extract of *Psidium guaiava* leaves on liver enzymes, histological integrity and haematological indices in rats. *Gastroenterology Research* (3): 32-38
- Fu, Z., Gilbert, E.R. and Liu, D. (2013). Regulation of insulin synthesis and secretion and pancreatic Beta-cell dysfunction in diabetes. *Current diabetes reviews*. 9(1), 25-53.
- George L, Evangelos L, Fotios B, Moses E (2014) Diabetes mellitus and electrolyte disorders. *World J Clin Cases* 2(10): 488-496.
- Idris, M.L., Nkafamiya, I.I., Akinterinwa, A. and Japari, J.I. (2015). Preliminary Studies on Some Medicinal Plants in Girei, Adamawa State of Nigeria. *British Journal of Pharmaceutical Research*. 6 (3), 203-213.
- Imo, C., Friday, O., Uhegbu, Imo, C.K., Ifeanacho, N.K., Osuocha, K.U. and Ibe, C. (2013). Acute administration of aqueous extract of *Garcinia kola* on daily blood glucose level and selected biochemical indices in longevity wistar albino rats. *International journal of microbiology and mycology*. 1(2),7-12.
- Iranloye, B.O., Arikawe, A.P., Rotimi, G. and Sogbade, A.O. (2011). Anti-diabetic and antioxidant effects of *Zingiber Officinale* on alloxan-induced and insulin-resistant diabetic male rats. *Nigerian Journal Physiological Sciences*. 26: 89-96.

- Kamanyi, A., Djamen, D. and Nkeh, B. (1994). Hypoglycemic properties of the aqueous roots extract of *Morinda lucida* (Rubiaceae) study in the mouse. *Phytotherapy Research*. 8, 369–371.
- Kandem, L., Siest, G. and Magdalou, J. (1982). Differential toxicity of aflatoxin B1 in male and female rats, relationship with hepatic drug metabolizing enzymes. *Biochemistry and Pharmacology*. 31, 3057-3062.
- Kemasari P., Sangeetha S. and Venkatalakshmi P. (2011). Antihyperglycemic activity of *Mangifera indica* Linn. in alloxan induced diabetic rats. *Journal of Chemistry and Pharmacological Research*. 3(5),653-659.
- Li, S. Tan, H.Y. Wang, N., Zhang, Z.J., Lao, L., Wong, C.W. and Feng, Y. (2015). The role of oxidative stress and antioxidants in liver diseases. *International journal of molecular sciences*. 16, 26087-26124.
- Lipsky, B.A., Berendt, A.R. and Cornia, P.B. (2012). Infectious diseases society of American clinical practice guidelines for diagnosis and treatment of diabetic foot infections. *Clin Infect Dis*. 54(12): 132-173.
- López-Lázaro, M. (2002). Flavonoids as anticancer agents: structure-activity relationship study. *Current Medicinal Chemistry-Anti-Cancer Agents*. 2 (6), 691-714.
- Luka,C.D. and Tijjani, H.(2013). Comparative studies of the aqueous extracts of *Ocimum gratissimum*, *Aloe vera*, *Brassica oleracea* and *Ipomoea batatas* on some biochemical parameters in diabetic rats, *IOSR Journal of Pharmacy and Biological Sciences*. 6(3),23-29.
- Makare, N., Bodhankar, S. and Rangari, V. (2001). Immunomodulatory activity of alcoholic extract of *Mangifera indica* L in mice. *Journal of Ethnopharmacology*. 78(2–3), 133–137.
- Malami, I., Batako, M.M., Alhasan A.M. and Abubakar, I.B. (2023). *Mitracarpus hirtus* (L.) DC.: is a potential source for the exploitation of anticancer agents. *Natural Product Research*, 37(17), 2965-2968.
- Mankhatithan, W., Lueaniyomkula, A. and Manosuthin, W. (2011). Hepatotoxicity in patients co-infected with tuberculosis and HIV-1 while receiving nonnucleoside reverse transcriptase inhibitors based anti-retroviral therapy and rifampicin containing anti-tuberculosis drugs. *South East Asian Journal of Tropical Medicine. Public Health*. 429, 651-658.
- Najafi, M., (2011). Date seeds: a novel and inexpensive source of dietary fiber. *International Conference on Food Engineering and Biotechnology*. 3, 323–326.
- Nastaran, J.S. (2011). Antihyperglycaemia and antilipidaemic effect of *Ziziphus vulgaris* on streptozotocin induced diabetic adult male Wistar rats. *Physiology and Pharmacology*. 47, 219-223.
- Nathwani, R.A., Pais, S. and Reynolds TB. (2005). Serum alanine aminotransferase in skeletal muscle diseases. *Hepatology*. 41 (2), 380-382.
- Nirmala, A., Saroja, S., Vasanthi, H.R. and Lalitha, G. (2009). Hypoglycaemic effect of *Basella rubra* in streptozotocin-induced diabetic albino rats. *Journal of Pharmacognosy and Phytotherapy*. 1(2), 25-30.
- Nkosi, C.Z., Opoku, A.R. and Terblanche, S.E. (2005). Effect of Pumpkin seed (*CucurbitaPepo*) Protein Isolate on the Activity Levels of Certain Plasma Enzymes in CCL4-Induced Liver injury in low protein fed rats. *Phytherapy research*. 2005; 19,341-345.

- Ochalefu, D.O., Adoga, G.I., Luka, C.D., Abu, A.H., Myke-Mbata, B.K., and Mfaga, I.C. (2023). Influence of Aqueous Extracts of *Nauclea latifolia* on Serum Biomarker Enzymes of Liver Injury and Serum Electrolytes in Streptozotocin-induced Diabetic Wistar Albino Rats. *Journal of Stress Physiology and Biochemistry*. 19(3),178-186.
- Okoronkwo, L.I., Ekpemiro, N.J., Okwori, U., Edna, D., Okpala, U.P. and Adeyemo, O.F. (2015). Economic burden and catastrophic cost among people living with type 2 diabetes mellitus attending a tertiary health institution in South –east zone, Nigeria. *BioMed Central Research Notes*. 8:527. Dio 10.1186/s13104-015-1489-X
- Oputa, R.N. and Chinenye, S. (2015). Diabetes in Nigeria- a traditional medicine approach. *African Journal of Diabetes Medicine*. 23(10): 7-10.
- Pansuksan, K. (2014). Bioactivity and Biochemical Evaluation of Genetically Modified *Mitracarpus hirtus* L. *Scientia horticulturae*. 1-78.
- Pansuksan, K., Sangthong, R., Nakamura, I., Mii, M. and Supaibulwatana, K. (2014). Tetraploid induction of *Mitracarpus hirtus* L. by colchicine and its characterization including antibacterial activity. *Plant Cell, Tissue and Organ Culture (PCTOC)*. 117, 381-391.
- Rana, S., Singh, R. and Verma, S. (1996) Protective Effects of Few Antioxidants on Liver Function in Rats Treated with Cadmium and Mercury. *Indian Journal of Experimental Biology*. 34: 177-179.
- Reda, M.M., (2006). The effect of barley and barley fortified bread on diabetic rats. M. Sc. Thesis, Of Home Economics. Helwan Univ. Egypt.
- Reitman, S. and Frankel, S. (1957). A colorimetric determination of oxaloacetic and glutamic pyruvic transaminases. *American Journal of Clinical Pathology*. 28,56-63.
- Sarguru, D., Vanaja, R. and Balaji, R. (2016). Evaluation of serum electrolytes in type II diabetes mellitus. *Int J Pharm Sci Rev Res*. (40): 251- 253
- Shah, N.A. and Khan, M.R. (2014) Antidiabetic Effect of *Sida cordata* in Alloxan-Induced Diabetic Rats. *BioMed Research International*, 2014, Article ID: 671294. <https://doi.org/10.1155/2014/671294>.
- Shanmugasundaram, E.R.B., Gopinath, K.L., Shanmugasundaram, K.R. and Rajendran, V.M. (1990). Possible regeneration of the islets of Langerhans in streptozotocin-diabetes rats given *Gymnema sylvestre* leaf extracts. *Journal of Ethnopharmacology*. 30, 265–279.
- Smith-Spangler, C., Bhattacharya, J. and Goldhaber-Fiebert, J. (2012). Diabetes, its treatment and catastrophic medical spending in 35 developing countries. *Diabetes Care*. 35: 319-326.
- Swagat, K.D., Dibyajyoti, S., Jayanta, K.P., Luna, S. and Thatoi, H. (2016). Antidiabetic potential of mangrove plants: a review. *Frontiers in Life Science*. 9(1),75-88.
- Szkudelski, T. (2001). The mechanism of Alloxan and Streptozocin action in β cell of the rats pancreas. *Physiological Research*. 50,536-546.
- Tuvemo, T., Ewald, U., Kobbah, M. and Proos, L.A. (1997). Serum magnesium and protein concentrations during the first five years of insulin-dependent diabetes in children. *Acta Paediatrica*, 86, 7-10.
- Ugwu, M.N. Umar, I.A. Utu-Baku, A.B. Dasofunjo, K. Ukpanukpong, R.U., Yakubu, O.E. and Ebong, P.E. (2013). Antioxidant Status and Organ Function in Streptozotocin-Induced Diabetic Rats treated with Aqueous, Methanolic and Petroleum Ether

- Extracts of *Ocimum basilicum* leaf. *Journal of Applied Pharmaceutical Science*. 3 (4 Suppl 1), S75-S79.
- Uhuo, E.N., Godwin, K.O., Alaebo, P.O. and Ezeh, H.C. (2022). Haematological and biochemical parameters assessment of alloxan-induced diabetic rats treated with ethanol leaf extract of *adansonia digitata* (baobab) leaf. *Animal Research International*, 19(2): 4469 – 4477
- Viana, G.S., Medeiros, A.C., Lacerda, A.M., Leal, L.K. and Vale, T.G. (2004). Hypoglycemic and anti-lipemic effects of the aqueous extract from *Cissus sicyoides*. *BMC Pharmacology*. 8, 4-9.
- Weiss, J. and Sumpio, B. (2006). Review of prevalence and outcome of vascular disease in patients with diabetes mellitus. *European Journal of Vascular and Endovascular Surgery*. 31 (2), 143-150.
- Yakubu, O. E. Boyi, R. H. N. Shaibu, C. Abah, M. A. and Akighir, J. (2019). Antioxidant parameters and GC-MS phytochemical analysis of *Hymenocardia acida* stem bark ethanolic extract. *Trends Applied Science Research*, 14: 263-270.
- Yakubu, O.E., E. Ojogbane, O.F.C. Nwodo, V.O. Nwaneri-Chidozie, T. and Dasofunjo, K. (2013). Comparative antioxidant and hypoglycaemic effects of aqueous, ethanol and n-hexane extracts of leaf of *Vitex doniana* on streptozotocin-induced diabetes in albino rats. *African Journal of Biotechnology*. 12(40),5933-5940.
- Yakubu, O.E., Imo, C. Shaibu, C. Akighir, J. and Daniel, S.A. (2020). Effects of ethanolic leaf and stem-bark extracts of *Adansonia digitata* in alloxan-induced diabetic Wistar rats. *Journal Pharmacology Toxicology*, 15: 1-7.
- Yang, L., Frindt, G. and Palmer, L.G. (2010). Magnesium modulates ROMK channel-mediated potassium secretion. *J. Am Soc Nephrol*. 21: 2109- 2116.
- Zilva, J.P. and Pannal, P.R. (1984). Liver disease and gallstone. In: Clinical chemistry in diagnosis and treatment. pp313-335. Lloyd- Duke medical books, London.